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MATHEMATICS 10"
It is challenge that you can get 78/75 marks in Annual 2025
D C B A e A
2 = s -3 /)
b=0,c#0 | a0 v c#0 b=0 , ax +PX+C_O/G‘%/”"V‘_’Z"’_“Q 1
ax” +bx+c =0 will be quadratic equation if:
a.X2 +bx+c= OﬁJnu;u&m;u‘Ju_Q
b=0,c=0 a=0 c#0 b=0v ax® +bx+c = Owill be pure quadratic 2
equation:
\/7 _ﬁ iﬁ iﬁ sl 4X2 =7 ?gnb‘x{d’(
0 2 4 2 v | The solution set of 4x2 =7 will be: 3
(x + X2 —X— 28t P tzind
(x=D(x=2) 1)():/_ 2) | OFDO2) | ODOE2) | factors of x2 —x—2are: 4
= 242x—2=0%ccrf¥
~1++4-3} | {1£4=3 1+3 ~1+3 v % X R 2 5
{ } { } { } { } The solution set of x° +2x—2=0 is:
ehlsax® +bx+c=0 Fdslr Gl
a=0v a=0 b=0 c=0 Jidee | 6
ax® +bx+c =0 become a linear equation if:
=l 5X2 = (L
0, 0,30 0,6} v 0,-6 o ST =30X L |
0.5} 10,30} 0.6 0.6} Roots of the equation 5x* = 30X is:
2
10 3 LEY =l 5X* =125 =0¢c 2r f¥ g
©F 10} 3} -3} The solution set of 5x* =125 =0 is:
—b++b*—4ac .
oa ﬁ(LMU//U&u»
a=0 az0v b=0 c=0 2 9
—b++/b?—4ac
o3 is called quadratic formula
where if:
Sonss Skl J}g' Ssde ax* —bx® +cx* —bx+a=0 LL:«I:[/;.{I 10
Quadratic Linear Reciprocal v/ Radical ax® —bx® +cx®* —bx+a =0 is a equation:
T 2X X _ 9 . (]
QU=s . al;b»‘u’:é” sl $odo e lals (Sanss a’+ b’ a -; c=0 LLGM.«UL»‘JJ;
E|>épone_nt|a Reciprocal Radical Quadratic | Equation in the form of a* +b,a* +c =0 is 11
quation 4 - ¢ .
v equation equation equation called:
. b 2 —_ _— 3
{2} {iZ} v {4} {i4} e er SEAX?-16=0 =hl- 12
The solution set of equation 4x* 16 =0 is:
;'J:l/dv'_tp:’ ;;Ul-/Jﬁ’ al;l/-d/l? uﬁ(é’( +f}J3X +32—x +6=0 bl
Exponentia || - Reciprocal Radical None of these | A tion of the type 3* +3°* +6 =0is a/an: 1
Equation ¢/ Equation Equation N equation ot the type s +<= = +5=01s a/an.
.:,bl/d/ignéﬁ MU’J?J&&UPJ
S Egsﬁnﬁﬁal el it A ion involving i ion of 'h‘LdM 14
S i | Radical sian ¢ | N fth n equation involving impression of the
quare sign sign acical sign one ot these variable under is called radical
equatoin:
ax*+bx+c=0,a=0
v B bX+C=0,b¢O A 34;-‘)&(5/?&:"5&*&/}» 15
ax?=0.a20 D ax’ —bx.a=0 c Standard form of quadratic equation is:
:w%}&é_/ff.:,bv&uu
4 3v 2 1 The number of methods to solve a quadratic | 17
equation is:
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(x+7)& | (x-7)& (x+7) & (x-7)& 15 B G kn L X2 —15X +56
- 18
(x+8) (x-8) v (x-8) (x+8) Two linear factors of x* —15x +56 are:
. 1 .
.. p - U’Z’J/‘u& -~ L/( —,J; X S e lslrs
Jr A sl $sdo &’JVJ!Q' ehledied Léd Andie Lo X d/ St bl
None of Radical Reciprocal Exponential | An equation, which remains unchanged when x is | 19
these Equation Equation v/ Equation replaced by 1 is called a/an:
X
vars =y £ =ileile QU= e 4 16 =0 il
None of Reciprocal Radical Exponential A tion of the tvbe 3 +3* + 6 < 0 is a/an: 20
these Equation Equation Equation v/ N equation ot the type o+ +o=DIs ajan.
5 2 —_ = -
2 | v | 4 f4) | e X 1070 5y
The solution set of equation 4x*—16 =0s:
N7 ehl-died e elsle A 2% =3+ 7X* —3x +2=0 =il
None of | Exponential Radical Reciprocal | An equation of the form | 22
these Equation v/ Equation Equation 2x* —3x° +7x* - 3x + 2 =0s called a/an:
4 3 2v 1 A L3 5
There are complex roots of unity:
E —_b v _E E Z%b‘n;ﬁﬁfu&obb»&nu 24
a a b a Sum of roots of a quadratic equation is:
4 3 -3 3, e KL A -3x+6=0 |
3 —4 4 4 Sum of roots of 4x? —3x+6=0
2 _ ILL;«DV&/}»%L@)BU’%/
X 7X:12_0 x> +12x-12=0 | x*+7x+12=0 | x*+x+12=0 | Quadratic equation for the 26
roots 3 and 4 is:
5 5 3 5 <L¢/,u/,cx+[3?unuju£ 3x? +5X—-2=0cnbl+Ba Ji
3 3 v c 3 If o, B are the roots of 3x*>+5x—2=0,then a.+p | 27
is:
-4 7 4 v -1 ~L¢/~’/~GB ;"uyzj5/£7X2—X+4=0 g!;PBfOL/ﬁ 28
7 4 7 If o, B are the roots of 7x*—x+4=0, then ap is:
uF oS Fr Jﬁ/ Fid B AXE —5X+2=0 bl
None of Rational Imaginary Irrational | Roots of th tion 4x° -5x +2=0are: %
these v oots of the equation 4x° —5x+2=0are:
_1 — _(Dz _ww)'d'/jﬁé I_ll
1,—m,—’ —1,—o, 1,0, C) W 30
v Cube roots of '—1'are:
Sum of the cube roots of unity is:
3 1 1v 0 e PSEALLE | 3,
Product of cube roots of unity is:
o, 02 1,-o Lo 1,-1v -l s £36 33
Two square roots of unity are:
Jbt/:’. 33?7/{ J:‘/"I/'b d’f.‘;?:/,l/,l/ _uju“bu£4xz—4x+1:0_~,ut/ 34
. . eal, . ) 3 )
Irrational Imaginary Unequal Real, Equal | Roots of the equation 4x* —4x +1=0are:
b anis 3 2 b = 0 <>
—b® - 4ac —b? + 4ac b? + 4ac b*—4ac v o ‘QL};/‘”{&X +_ X+e 1 35
The discriminant of ax®+bx+c=0is:
: . . . 600m :1km ="?
5:3 6:1 3. 5v 600:1 600m - 1km = 2 36
up{::ﬂ”/dd( . :ﬁ;yu!jﬁiu’;d/:)ulikﬂﬁ'u‘o/ﬁ
el e U~ HF | one quantity decreases and other decreases, the 37
Direct ¢/ Inverse Either direct | No relation | variation s
or inverse
30 +32 £23 30 v e Wiieg L2045 | g
For 20, 45 mean proportional is:
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4 —— K2
3 2 + — . . . T—
23 3 v Third proportional of 4,12 is: 39
S e St Fabibiceot il
a b Cv None of | Forarelation a:b::b:c, the third proportional is 40
these :
g i . A5 o d g a:b:c:d, d et L L
i 4th Forarelation a:b:c:d, d iscalled . a1
1st 2nd 3rd ;
. . . proportion
proportion | proportion proportion v
o s X oo
A2 y=k= stk <t ¥
g z
z y X ./3} - . X . 42
Variable ¢/ | In joint variation, y = k — ,k is called constant of
z
P kx
ASPy=—28dL
k=1 k=0 k=1 k#0 v o { 43
For joint variation, y =— where:
z
E S S A St i dosa tazbucid ot
None of Fourth Extremes v Means In a proportion a:b::c:d, aandd are called: 4
these Proportional prop T S '
oS — ez Y St lwWcobtaibucid ot
None of Fourth Extremes Means ¢ | Inaproportion a:b::c:d, b and c are called: s
these Proportional prop T '
oy b obs £C ma tac=b’.aib=bic —t S
- d b U?}Z ’/5 -Lt’U{"/u/tj 46
none of fourth third ) _ : e
these Means ¢/ our Ir In continued proportion a:b=b:c, ac=b*, b is
said to be proportional between a and c.
WY . 2o A bl Cebmataib=bicet
’ g had - - - -
none of ) . In continued proportion a:b=b:c, c is said to be | 47
means fourth third¢/ -
these proportional to a and b.
12y 3 4 75 _ _ _ S X U AIX 5115 48
4 3 4 Find x in proportion4:x::5:15.
. 2 7
uv? =1 uv? =k u=kv’> ¢ u=v? Fuocvi /i 49
If uocv?,then:
1 K Jy? oc%/!
y2=kx3 y2=x2 y2=_3 y2:_3‘/ . 50
X X If y? oc —, then:
X
;E _V_ k Ji
u=vik u=w?k u = vk? u=wk’ v yov VoW 51
If —=—=k, then:
vV w
2 4 2 . o :{ 2 'XZ
% 2w 9% - . . A 52
X X X The third proportional of x“and y“is:
: CFe XY IVIW
X XYV w Xy _ “w v’W}ZJ’_ y 53
X v The fourth proportional w of X:Yy:VIWis:
a—b_x-y a+b_x+y a_x 322‘/ :Lgc,ﬁwyina:b:x:yfi 54
x Y by by Xy If a:b=x:y, then alternando property is:
EZX‘/ a+b_x+y a __x 3:9 :+a¢ifina:b:x:y/ﬁ 55
a X by a=b x-y Xy If a:b=x:y, then invertendo property is:
a ¢ B
a;bzc;d ﬂ ab= Cd a+b c+d LM%J/]]%EZE/G 56
bc a=b ¢~ v ‘ b d
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If %: % then componendo property is:
2
X +3
. - s
pa < e Coﬁ)’;‘z | A&B UL (x+D(x+2) -
i 2
Proper fraction fraction fraction Both A & B x> +3 < a/an fraction:
(x+D(x+2) -
= Mls Saq =l / 2(x+1)=2x+2 < u{' 58
Equation Unequality Identity v/ Fraction 2(x+1) =2x+2is alan .
(x+1)(x—3) 2X" +x+1 2X—+1 X +x+1 Which one of them is not an improper fraction? | 59
? X2 +2 x*(x-1) x* -1
2 wdremd & P +1
(=D -x+1) | (x+D-x=1) | FHDE=X+D 1y 36 4 x40) | Multiplication factors for | 60
v x® +1 are:
2
X“+1
‘z"/‘ «' 3 1
St b =2l ¥ p X+ 61
Linear Improper Proper v/ Compound X +1
5 L, Isa/an
X +1
fraction.
Sx<(5x+4)" =25x* +40x +16 L1
HLLs” T Uit =3 cend L] o
none of these | all values v/ two values onevalue | o identity (5% + 4)2 — 95x2 1+ 40X + 16 is
true for of x.
¥~ o;k]cgné@}gu(uﬁf/kﬁuﬁf/
S et sl i A <047 63
None of these | An Equation | /" \MPrOPer | AProper [ A fraction in which the degree of the
Fraction v/ Fraction numerator is greater or equal to the degree of
denominator is called:
. 2x+1
. < "|
A e e A/Pf"‘%" Ehile i (x+1)(x-1) 6
None of these roper An Equation An Imp_roper 2x+1
Fraction v/ Fraction — s
(x+1)(x-1)
. . 2
u’f&[;uﬁul ::«fl/ o fals b:LI:JAVg '%7"'»0 (X +3) = X2 + 6X +9 65
. i inear 2 -
None of these | An Identity ¢ | An Equation Equation (x+3) =x?+6X+9is:
W P S e
o 20T N~
Ax+B C A B C A B A = (X_l)(x+2)
+ X + X
x—-1 +x+2 H_’_ X+ 2 x—l+x+2 Xxohoxaz . . X_2 66
v Partial fractions of ———=7——are of the
(x-1)(x+2)
form:
:)Md/ut{/uﬁ:{/;gﬁ
8 4 0 16 v L 23 4 67
The number of elements in
the power set of {1, 2,3, 4}
I}lﬁd/ugﬂﬁ.‘;:‘/)g:i {a,b}
0 4v 2 1 The number of elements in 68
the power set of {a, b}
An(BuUC)=?
(AnB)U(ANC)
(Ar\B)m(AmC) (AuB)u(AuC) (Ar\B)m(AmC) 69
v An(BuC)=?
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ety .
- 7 e Er | MG; :‘ét’Ml’fg’l?’g”
A . U - A collection of well-defined objects is | 70
None of Set v/ Power Set Subset called:
these '
a
Sl P o . _— =+VMMQ:{B|a,b€Z/\b¢O}
) sl Pt F R S
Rational Irrational Natural o a 71
Nun:/bers NUMbers NUMbers Whole Numbers | a sot Q = {B la,beZAb= 0} is called a
set of:
e Qs SEUR S L LSS e
4 3v 2 1 The different number of ways to describe | 72
a set are:
Super Set Singleton Set p‘/y Subset A set with no element is called:
FI‘:thget .b{d(é .L{G? b"*.’f‘d‘l';ﬁ& :‘LE'M{X|XEW/\XS].01} 24
v Empty Set Subset Infinite Set The set {X [ x e W AX SlOl} is:
o d el Ll Lrdb et ISP RS | e
Subset Singleton Set v | Power Set Empty Set The set having only one element is called:
e Uy Kﬁ)’dl}
v {a a . o 76
{d)} {q) { }} { } Power set of an empty set is:
-Lgén)iﬁd/u{/lé:&{/ﬁgi {11 21 3}
9 3V 6 4 The number of elements in power set | 77
1,2,3}is:
et
o A B v A :Lgtn/,n/,-AUBmA cB/J 78
None of If Ac B,then AUBIs equal to:
these
e i
4 b B A v :Lgt‘n/,l/,-AﬂBinAg B.Ji 79
None of If A< B,then ANBis equal to:
these
: w7 - J LA B f
B_A b v B A LLL//,!?A B c A 30
If A< Bthen A-Bis equal to:
e bl (AU B)UC
ANn(BNC) Au(BuUC) vV (AuB)nC An(BUC) 81
(AUB)UCis equal to:
(AUB)(ALC) e tx0,AU(BNC)
AuU(BUC) (ANB)U(ANC) ANn(BNC) 82
v AU(BNC)is equal to:
e b AUBIUser S 4 B A Ji
BUA v ¢ B A If A and B are disjoint sets, then AUB s 83
equal to:
AxBiwd ot B ern3isSoat A erti
:‘L&ﬂ)lp‘}d/ugjiu:
7 12v 4 3 If number of elements in set A is 3and in | 84
set B is 4, then number of elements in
AxBis:
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ZAxXBI2 B a3 sdSusnt A cr i
) . 6 . :éa&nﬂﬂp@gluél‘f
2 2 2’ v 2 If number of elements is set A is 3and in | 32
set B is 2, then number of binary relations
in AxBis:
7xR={(0,2),(2.3),(3.3),(3.4)} Ji
(2,34} {0,2,4) {0,2,3} v {0,3,4} . . ¢-0» Dom Rf 86
e omain 0
R={(0,2),(2.3).,(3.3),(3.4)} is:
7xR={(13),(2.2),(31).(4.4)} Ji
(1,3,4} 1234l v | (324 (1,2,4} . U Range Rf 87
e range 0
R={(13).(2.2),(31),(4.4)}is:
:Lat"nufé/ (_1; 4) L
v 1"l v I 88
Point (—1,4) lies in the quadrant:
5 7 V 4 2 :Jﬂ%ytfg‘ll‘4‘5‘6‘8 Bkl 89
Range of the data 9,11,4,5,6,8 will be:
n ﬁ Z(X—X) ZX Y )?:? éé;l}”i’%: 90

2 X n n n V" | For a given data, X =?

7 5 3 1 - wlE13S 3TN | gy
The mode in the data 1,3,5,3,7,9 is:
e U"’”d"//{d G"r’;:“’;; et L E G 6o 92

Histogram hgroupe P A data in the form of frequency distribution is called:

Data Data v
Lol i o by ,ﬁmﬁ&};}:;»,@wéuwx /.f‘;(f/
- - Sum of the deviations of the variable X from its mean is | 93
Same One Zero vV always:
Losl§ 40 ol 1 e bl eai e 23N A L X, X, X X,
. g )

Geometric Mean A\ The n" positive root of the product of the x,,x,, X, .........., x, | 94

Mean v/ observations is called:

Jz/)'uéT(’: n L”[Jéﬁ'l :%VML/}IQL?J:&”KJPLQU X1 Xg, Xgpeeieiannny X,

Harmonic M:(/a di;n Geometric | The value obtained by reciprocating the mean of the reciprocal | 95

Mean v/ Mean Of X, X;, Xgyeerenennss x,, observations is called:

:"Vg’(_’: el ) sl I%JMAJlJLT;/o}LJLqu:)U‘J( 96
irﬂrz;):lc Median Mode v/ The most frequent occurring observation in a data set is called:
ol ol s Zﬁ;lt‘MZ.l?.A&ﬁ(’AJJV:?J@,UJ
Meén Mode Me;jian v The measure which determines the middlemost observationin | 97

a data set is called:
o y/ » wjé/ﬁ/'égu‘jmu@mu/
J
L The extent of variation between two extreme observations of | 98
Quartiles Range v/ Average a data set is measured by:
/»;u@uéuﬁ/éduf'u;mu}ué .:,uXi(i=1,2, ----- an)
Range Standard Variance v/ g i
g Deviation The mean of the squared deviations of X; (I =12,.., n)
observations from their arithmetic mean is called:

J!/'!d/.l';u o L/’l'@"lﬁ /l?c‘{'f'LL/}!du&u:’ffédlf'lcbmidl)éc«u X; (I =1 2, ----- ) n)

Standard Range Harmonic o ; 100

Deviation v/ g Mean e
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X (i

The positive square root of mean of the squared deviations of
=1,2,....,n) observations from their arithmetic mean is

called:
A B S S5 . e ’U'”J;.y LS 101
linear non-collinear parallel unparallel The union of two rays with some common end
co v point is called angle.
as236 | 0| amoeo1r | 4536 o | s 45367 TDIMIS |y,
45.36°in D°M 'S "is equal to:
o o 180° b 1 $=¢h
360 180 7 v W r 17rl’ad — r) 103
2_7r ECZ/?./
90° 120° v/ 360° 180 |, 3 104
VA
—rad =7
3
1 76 1 r’g v 1 0* 1 (70)? e LB | 05
2 2 2 Area of a sector = ?
:?n,,uuyuéu,{mfdﬁ%.uf
90° v 120° 360° 180° The angle between hands of a watch at 3 o' clock 106
will be:
_ ) 1+ = cosec’d
sin” @ cot’ 9 v tan® @ sec’ @ ) 107
1+ =Ccosecd
_ sec’ x—1=
sin® @ cot’ @ tan’6 v/ sec’ @ ) 108
sec” x-1=
T o Lj/@ i - -‘Lt'llz"/ Jﬁ&nb_f“/“‘l/u{!m%uﬂ_;ﬁbﬁj»
. . An Angle | The union of two non-collinear rays, which have | 109
A Radian A Minute A Degree .. .
v common end point is called:
30° 60° v 45° 90° 0=__ Jrwano=3/| 14
If tano=+/3then 6=
1-tan®0 1+cos’® | 1+tan’0 ¢ | 1-sin’6 sec? 0 = 111
cos6 sec’0 2cos’ 0 2sec’0 v 1 + 1 = 112
1+sin® 1-sin®
NG 1 1 1 .
—_— —_ = —cosec4s” = 113
2 V2 72 2 2 —
ﬂ L L sind secOcoto = 114
cos0 sin@ cos9
tan® 0 1lv -1 cosec’0—cot? 0 = 115
ol quééutﬂff««;ﬁré’ et
~370) . VY
z 56 P S by
- X A -t | 116
Acutevangled Right-angled Obtuse angled None of these H.S = H.S postulate is used for
triangles.
Ll e & . _ _u_gLnJ Ot ]
; Parallelogram . Opposite sides are congruent in a: 117
Triangle v Rhombus Trapezium
" o o w0 | e et | s
Acute v/ Obtuse Right than semi circle is:
r r Sl 'l I/jéz_//lu}l ‘d ':‘q}‘”uyné
d=2r v d= 3 d=rr d=— Relation between radius 'r' of a circle and diameter | 119
4 'd' of a circle is:
{L//l)rﬁlklm/LJJWLU@M@WJD/»LL//D
= Ui 2 N <t | 120
Sector v/ Arc Chord Diameter | a of a circle is the plane bounded by two
radii and the are intercepted between them.
o3 S e ol 157 S LSS e f | 121
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Circle v Rectangle Line Parallelogram | One and only one can pass through three
non-colinear points.
?Lagntfzﬁdiuéwd//ﬁd:@//i}&
4 3 2v 1 The length of the diameter of a circle is how many | 122
times the radius of circle:
S, 9% B Y b KPina oK I | og
Centre Tangent v/ Secant Chords The greatest chord of the circle is its
}? Js 7 PV _‘Lt'U':( }JU!JL/fc.?//Lé.//U 124
Sector Arc Chord Diameter v/ | A chord passing through the centre of circle is:
?LLCg/)fBj'JugLu:L@bﬁﬁgg
4 3v 2 1 Through how many non-collinear points a circle 125
can pass?
270 Vel 2 Sl Locus ofvz;)/ﬁf"i};:pﬁigéﬁgﬁtﬁgn(édp 126
. . u inti uidi
Circle v Rectangle Line Parallelogram fixed point is called:
360° v/ 270° 180° 90° e | 197
Complete circle is divided into:
P 15 5 - /" s - Ié&t’l]v;(/)ﬂbc/}'/c;)'//-éc/-b
= Diameter : A chord passing through the centre of a circle is | 128
Circumference Secant Radius
v called:
Y. ).’/ P s - . = ujL//,ﬁ:fZ-J/L’d»‘;Lhﬁg/’b 126
Diameter Centre v Circumference Radius Right bisector of the chord of a circle always passes
through the:
2715 b8 Fie s }ggg//b LEE s :LLL?'M}’Z'M'/C—J}WLU'J/”U)’U/)}}?,;j/o}{&//’}
Segment of a | Diameter of | Sector of a | circumference | The circular region bounded by two radii and the | 130
circle a circle circle vy | ofacircle | corresponding arc is called:
o o -l 7 The dist f :%?{J;Gtijf‘/l&jt'% L’/LtG/'U 131
An Arc A Chord Diameter Radius v caltleedl's ance of any point of the circle to its centre is
A1 - g UDLLL/}(/LHJ(LG/’D
bl . A L7 . I .
: Radial . I < Line segment joining any point of the circle to the | 132
Perimeter Diameter | Circumference - '
Segment v/ centre is called:
. . e bl un/,‘ﬁﬁ/,l/,c)ﬁ;dffﬁqﬂdfaédﬁ"
k) L2 0711 S ¢ - . . .
. = : . Locus of a point in a plane equidistant from a fixed | 133
Diameter Circumference Circle v Radius L i
point is called:
o \ . . (, foo 3 o U . 7z .
L] LG bt VS~ nrs e TusZ ol o
On point . . : Tangent line intersects the circle at: 134
v Two points Three points No point
S u.?;»f 25 u"/é/ :uf/Ln/_:g/uuflu’uu;lu’L/K;//b
Pa;allel Not Perpendicular N“one The tangent and radius of a circle at the point | 135
perpendicular v of contact are :
IRy Y, WSl J: ?ujélg:if(u’b’ffvﬁa‘?&f;éc/’mfr
Only |y - ) How many tangents can be drawn at a 136
two Only one v/ Unlimited Three point on the circumference of a circle?
ey ay R £ ?wélg:&fu’b’g/f_/’bc)ﬁ&;p&r
Only onlv one Unlimited Th;ee How many tangents can be drawn on a circle | 137
two v/ y imi from a point outside it?
v b . . e b 5 S 52 AL s
L}Cbb A 7 . 2 -
Tangent Secant Chords Diagonal A line which has only one point in common 138
v 9 with the circle is called:
Cg;/tre vV A » A circle has onl one'%m b 139
v Tangent Secant Chords y
y S L yp e bl Y PTQ Bl s
BOEL A Tangent S v In the adjacent figure of the circle, 140
A Secant A Chord An Arc ==
v the line PTQ is named as:
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Secants<71s TK(—/ b t é"_/" Sine¥_ > (e nS P LEn AL LSl
Secant of a angen osine Sine ofa | A line which has two points in common with a circle | 141
circle v/ Tang_ent of a Cos!ne of a circle is called:
circle circle '
Py ; . - .
Secants = b/"_/" Sineges1s (S B L5 AL K
Secant of a Tangent C_osme Sineofa | A line which has only one point in common with a | 142
) Tangent of a | Cosine of a . e .
circle . . circle circle is called:
circle v circle
qu:;- oo yy i -l w ab@é&uuuééﬁc_ﬁdﬁgﬂgfbvg
triole double Equal v half Two tangents drawn to a circle from a point outside it | 143
P . are of in length.
f/ e 73 CL'G}:} et Sk 2L 144
Centre v/ Diameter Chord Secant A circle has only one:
ﬁfé'ﬁdtr Sin4f:;{c;int 4482 /%Lhw: B el g
Opomta g Two Points ree A tangent line intersects the circle at:
all v Points
)/ L}(Z dj’j}./j dj[’? 'LJ.?LM U:Lﬂ: ’ JVé,s:;:U’/‘C/’}LG/" 146
erpendicular collinear | non-parallel | Parallel v Tangents drawn at the ends of diameter of a circle are
P P to each other.
S » e Ju g yar S LU pS E Fnte L
Conaruent E . | Un. : | Incongruent | The arcs opposite to incongruent central angles of 147
ongrue qua equa v a circle are always:
- bx :}Ud}(/ﬂfﬂ L s
360° 270° 180° v 90° The semi-circumference of a circle subtend a 148
central angle.
J"L?‘ s Jlw ufug:fuuj’iau:?wcﬁg;’id}'//gfu“»
Zz VAR J (Va4 . — X . -
Congruent Equal Un I Inconaruent A pair of chords of a circle which make congruent | 149
v qua equa CONgruent | central angles is:
_,,!de/w,é;.af“;?um,uuguwan};u:;/’m{l
K
(0] 0 o o
80 60°v 30 20 The length of a chord and the radial segment of a 150
circle are congruent, then central angle made by
the chord is:
i ST 5 I S i g n L urin g, RN
Incribed Central uaddr;/m/an e Ri’;}; -nale | The angle subtended at the centre of a circle 151
angle angle v/ Q g g 9 between two radii of circle is called :
/),C U =, y: «Lat“lk(‘ﬁé:(ﬂfig//uu/
X _ ; i i 152
Sector Arc o Chord Diameter Any part of a circumference of a circle is known as
K ST L U1 80° ST LT L
80° 60° ¢ 40° 20° If an arc of a circle subtends a central angle of 60° | 153
, then the corresponding chord of the arc will make
the central angle of:
b ,:;Udﬂ//ﬂfﬂﬁg/’b
360° 210° 180° v/ 90° The semi circumference and the diameter of a circle | 154
both subtend a central angle of:
K e L E/.’/.Iétw;;] [‘J'” -Jn JVJ/":?LL‘/. 180° :306}(/75{;/’1;//!
None of Double of quad_ol & | Lessthan | pyo ohorg length of a circle subtending a central | 155
these the radial radia radial angle of 180° is always:
segment segment v/ segment '
y S Jal}‘ﬁé J‘L}" -uj&yz g:’}duavéug;udf/fw‘/f»utg_/’uvg
J
o Incongruent The arcs opposite to incongruent central angles of a | 156
Perpendicular Parallel Congruent . )
v circle arc always:
a v T T T _ _ _ -LLV}’L,:_:U-/}“;U_’:L//DJA 157
2 4 6 An angle inscribed in a semicircle is:
2 & | B §K | 158

http://www.pakquess.com

Sir Abbas Gagra Contact # 0303 9300943

Page 9



http://www.pakguess.com/

Class 10t Guess

http:/www.pakqguess.com Annual 2025
Amrican Greek English Latin The word geometry is derived from
letters.
.. . - t’n,ﬂ]ﬂl}iu’figé"_ﬂ’/[c_é_//bﬂ
»b 2/ -6 180° i the o ' i | 159
Acute v Obtuse Right é?cglleeiigqrmed in the segment less than semi
. Y1Vl o//iju‘:{? 7 1 -Lgbn_o}!:inb}fguﬁuruéw
ior:(’:)i/r’cTe circum circle escribe ﬁ(;ﬁ}e( The circle passing through the vertices of a 160
v circle triangle is known as
360° 90° 180° 1200 v R AT ULV BT
Each angle of regular hexagon is
S ot S st P i, bl S b Qs U L el 27100y
) . - -
. In-centre . The circle which touches the three sides of a 162
Circumference | Ortho centre v Centroid triangle internally is called:
V4 U }5 2 ‘.‘LL"ML:;{;//D 163
Boundary v/ Radius Chords Diagonal The circumference of a circle is called:
U BEE y 2 e sl S |
Tangent Secant v/ Chords Diagonal A line intersecting a circle is called:
, oy . o Bl s, LB s
L?ﬂ L?(:/f d/l}”‘ d/l}"‘/f K 165
collinear non-collinear parallel unparallel g%ﬁ:gf gfrzvz?rgltetgﬁe?nd points of the
?ugélg’;tzu‘u’bf;/“‘z’fl.u,}u;n&/g/u
4 3v 2 1 common tangents can be drawn for | 166
two touching circles.
?@é@gJVJ]}ZLUJ//Ud’G}j»
4v 3 2 1 How many common tangents can be drawn 167
for two disjoint circles?
s 25 o e 2 il w g/uuggu’l)u:l‘jl/{;//b
Cor:er:ent Perpendicular gr/;ﬁel urf/;efﬁel The tangent and radius of circle at the point 168
g v P P of contact are.
p p T -ngmi,&'fd/g;u&;;.éu,w(g’.{!
3 v 2 3 T The measure of external angle of a regular 169
hexagon is: .
. . . «Laan/!ﬁd/uzz‘m‘&;/gﬁd"f?.{!
3 2 v 3 T The measure of external angle of a regular 170
octagon is:
Cakeo itz 507 ot Ugidas L ety
Lol P e Vs, ) ) N2 171
Circumference | Ortho centre | '™Centre Centroid The internal bisectors of the angles of a
v triangle meet at a point called the ...... of the
triangle:
s Jﬁimmwanﬁﬁwtwl&awu;féwu/
. //:{W P P VS, ) -ujjé -------- Fd 172
Clreumference | oo centre | In-centre Centroid The point of concurrency of the three
4 perpendicular bisectors of the sides of a
triangle is called the ....... of a triangle:
Lﬁ)”ﬁﬁj LJ}’?,EGJ('Z ) . <Q7’ZJ ______ /u@gj"/}fcﬁdugbpﬂwk};ufkuf
Non- Concurrent b S Three or more than three lines passing 173
concurrent : Triangle Rectangle through a point is known as .....:
: points v/
points
LA s y -, pm Jt&ug,uu;féwf
: : Angle bisectors of the three angles of a 174
Concurrent ¢/ Radius Chords Diagonal triangle are:
J,)”'Jﬁ?(a/:; - o L WAL IE L
L LA ey - . _
Non- s ; S All three altitudes of are concurrent: 175
Concurrent Triangle
concurrent oints v Rectangle
points P

(SUBJECTIVE PART-I)
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Q.NO.2 (SHORT QUESTIONS)

1. Write the quadratic equation in the standard form and
point out pure quadratic equation. (x + 7)(x —3) = =7

(x +‘.éuulﬁ76/:4bl/(f./uuzém“éufrzlid/.l:v/obv

N(x—=3)=-7

2. Write the quadratic equation in the standard form and x +_éu;;&]‘{g,,p&ﬂ”/”/,|éu:r/gd/wf;‘bp

point out pure quadratic equation. ﬁ + XTH =6 S x+1 _ 6
X

3. Solve by factorization: 3y? = y(y — 5) 3y% = y(y — 5)-u /S5 2

4. Solve the equation using quadratic formula:2 —x? = 7x 2 —y2 = B e I Ly B Gasnd bl

7x

Define second degree equation and give an example.

_Q:JC"MQ"/:Q/?JQUL/J.AM

Write standard form of quadratic equation and formula.

_fdﬂr‘/ﬁ{L/JULJU:!;«/!"Lj/?f‘fcabl/(ﬁnu

5
6
7. Define Reciprocal equation.
8
9

RSy NI STy
Define exponential equation. Iy N SN T
Define radical equation. _J/J}’J;,ul/dw

10. Write names of methods for solving a quadratic equation.

-ﬂrtéu@.}’éL/f/c«UP&uu

11. Solve: x> 4+ 2x —2 =0

x? +2x -2 =00/ S

12. Solve with Factorize : 5x% = 15x

5x% = 15x-y /S $F 2/

1
xX—4

13. Write in the standard form of the equation xlj + =3

4 L =3 PG

14. Solve: (2x — %)2 = z

xX+4 5
(2x-3) =3/

15. Solve:v3x + 18 = x

V3x +18 = x-y/f

16. Find the discriminant of the following given quadratic
equations; 6x2 —8x +3 =0

6x2 — 8x + 3 = 0 s § el B

17. Find the nature of the roots of the following given
quadratic equations and verify the result by solving the
equations; x? — 23x + 120 =0

_QQMJJHL/J’IM,VMér)’"(u"ld/ujué sl
6x2—8x+3=0

18. Evaluate (9 + 4w + 4w?)

(9 + 4w + 4w?) i

15 e (2157) 1+ (5)

) Y e

2

20. Evaluate w37 + w3% -5

w3 4+ w38 —5 e

21. Evaluate ™13 4+ 017

w B+ w1 -é(}’”buf

22. Prove that x3 + y3 = (x + y) (x + wy)(x + w?y)

x3+y% = (x +y)(x + wy)(x + 0?y)SE ek

23. Without solving, find the sun and the product of the roots
of the following quadratic equations. x> —5x +3 = 0

x?>—5x+3 =<é(}".,/"’dllpu|Jﬁﬂéd’/&bb‘f.ﬂn

0

24. Find the value of k if Sum of the roots of the equation IuLxt+Bk—7)x+5k=0 ai;L»fU/()‘”:JJK
2 _ o il 24 - N

x*+Bk—7)x+5k=0 is ; times the product of the €_pf§ b P LSl 154K

roots.

25. if a, B are the roots of the equation x? + px + q = 0.

. a
Form equations whose roots are —,E

B «a

,_._,|,[/Luj,/}u%uj,/£ x% + px +q = 0. =~ O(‘B/?’
a Bz
B’ a” L

26. Write the quadratic equations having following roots. 1 +
i,1—1i

1401 = ic FoleGmbisss

27. If a 8 are the roots of the equation x? + px + ¢ = 0.
Form equations whose roots are a?, 52

,_._,|,[/Luj,/}unuj,/£ x% + px +q = 0=hl- O(‘B/?’
a®, Bk

28. Use synthetic diyision to find the quotient and the
remainder, when (x? + 7x — 1) = (x + 1)

(X2 +oz- e fimes® S ot w2 S, ey
7x— 1)+ (x+1)

29. Find the value of h using synthetic division, if 1 is the zero
of the polynomial x3 — 2hx? + 11

x3 — 2hx? +5, e /ﬁér#”oxfd/hédt&iéﬂﬁ&r}
611

30. Evaluate (=1 +v=3)° + (-1 —vV=3)°

(—14+V=3)+ (-1 - V=3)oyp =i
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31. Define symmetric function. SIS e
32. Define Simultaneous Equations. S S Uil A

33. Discuss the types of equation roots? x2 + 6x — 1 =0

X2+ 6x — 1 = 0-ZEes o Uif vl ehls

34. If w = Z1+V=3 then find w?

_E ek w? Juw = _12\/__3 A

35. Prove that the sum of all the cubes of a unit is zero?

b p AN L3S S et

36. Find the product of the unreal root cube of the unit?

ek P 3 2L

37. Find the value . w37 + w38 + 1

03+ 0B 4 1S d

38. Find the value - (1 — w + w?)®

(1-w+ w2)6‘4/()*’~>2

39. the product of two positive consecutive number is 182.
find the numbers

U e 182 A S w}mu.u,idy 1

40. the difference of a number and its reciprocal is 1:5. find the
number.

‘u:/'/ P})&-Ll—sg}/'(u’:é’ﬁu’lubﬁb{!
( — 2

41. Express as a ratio a:b and as a fraction in its simplest
(lowest) form. 27 min. 3 Osec, 1 hour

27 min. 3 Osec, 1 hour<gj~//;t£uﬁful/l’u(/ﬁ,l a:bes’

42. Express as a ratio a:b and as a fraction in its simplest
(lowest) form. 75°,225°

75°,225° /b S F TSl atbes

43. Find the value of p, if the ratios 2p + 5:3p + 4 and 3: 4
are equal.

—UNA 34 p+ 53+ 42J5"’/’?".£|’)LV&{?JP

44, If the ratios 3x + 1: 6 + 4x and 2: 5 are equal . find the
value of x

,éph’:,gd/x;u”/,!/llaﬂ 3x+1:6+ 4xu.‘?-d/7'

45. If a: b = 7: 6. Find the value of 3a + 5b: 7b — 5a

e atsbiTb-saaib=7:63/]

46. If y varies directly as x, and y = 8 when x = 2, find x
wheny = 28

y= 28 & Zé”}"’;nx = 2,?.y =8 /;ldﬂuf:/l/jxuly/ﬁ

47. Find the values of the letter involyed in the continued
proportion. 8,x, 18

8,x, 18- bl e f

48. If y < x,and y = 7 when x = 3 find x wheny =35and y
whenx = 18

yaly = 35,{5.x<£f}’”?n x=3y=Tnlny XX ﬁ
-ex=18 ,}«/’

49. Find a third proportional to 6,12

6,12 o 3

2 X=Y

50. Find a mean proportional between x2 — y2,
x+y

x=y . IR
x2 — yz,m~éf’p‘-/uw’”

51. Find a fourth proportional to 4x*, 2x3,18x>

4x*,2x3,18x5 b G5

52. Find a mean proportional between20, 45

20, 45.&5 3L

i - a_ /ﬂ
53.ifa:b = c:d,{a,b,c,d # 0) then show that > = pira

2402 . P
2= |22 reiaib=c:d(0 Zabed

b~ Al b2+d?

54. Define joint veriation.

_u“/uyﬂf;/ub/t-:

55. Find x, if 60m : 90m :: 20kg : xkg

4602900 K20 1 S8 Siigk o x

56. Find the cost of 15kg of sugar, if 7kg of sugar costs 560
rupees.

«uérk”oxfd/ﬁrl/igl5 Isid_s 560 ofgfdf(l/lﬁﬁ

57. Define direct variation. -J/L?/?d/c/'/ﬁﬁ
58. Define inverse variation. ISy AN ]
59. Define componendo dividend theorem. IS S S e
60. If y varies directly as x, and Y=8\yhen X=2 findyin e ixed§YIn X =2 By =8uiundtetd Y mx )
terms of x. S

61. Find x, if 6:X::3:5

_E e x36:x:3:5.0

62. If uand v varies indirectly, and u =8, when V=3. Find v

h.«%é[’}’”&gd/va=3._f>.u=8/3lnu’}é”ﬁ$u:vuluﬁ

when U=12 wu=12
63. Find the fourth proportional to 8, 7, 6. -»é()’f.,/wﬁgKG,?,S
64. Find a mean proportional to 16 and 49. _E 365649 16
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65. Find a third proportional to 28 and 4.

g1 5K28,4

2
66. If y o« —and y = 28when x = 7, z = 2then find y.

2

_épb’y?nx=7:Z=2b,>.y:28ulyocx— A
Z

67. 1f 2% and 2=36when X=2, Y=3then find z.

Ep I X=2y=322=36sZ Xy ]

68. If w ocvl—zand W:then V:3,then find w.

xér}”w?nV=3.f>.W=2ulWocizf!
Vv

69. Find x, if 0:X::3:5

e x36:x13:5.0

70. If 6:x::3:5 then find x

Q.NO.3 (SHORT QUESTIONS)

"x"Ix::3 2516/7'

AT

x—11
1. Resolve into partial fraction. m m J/Jyu*u,/d;}
2. Resole into partialfraction.x2+2x_3 x2+2x 3 J/Jyu*u,/d;}
3. What are proper and improper fractions. S SIS als sl
. . X—2 p
4. How can we make partial fractions of ——————? m&%duc AU Gzl 2
(X+2)(x+3) ’ X=
5. Resolve into partial fractions: 1 é&:‘g S e
3
6. Find partial fractions of —————— LSk e
P (x+1)(x-1) grkrlsad g
. . . X -
7. Resolve into partial fractions: 3 « (S 6
X
8. How we can make the partial fractions of —— N
P (x+a)(x—-a) sl AU e
? (x +3)x—a)
9. Whether (x+3)? = x?+6x +9 is an identity? ekl L g

(X+3D?=x2+6x+9*

10. X = {1,4,7,9}and Y = {2,4,5,9} Then find: XU Y

XUY - e 7Y = {2459 X = {1479} /1G

11. IFX = {1,4,79}and Y = {2,4,5,9} Then find: XN Y

XNY 7Y = {24,59 11X = {1479} /1Gii

12. FX =@,y = Z*,T = 0%, Then find XU Y

XUY - /p#iT=0/x=0,Yy=2"

13. | FA = N and B = W Then find the value of A — B

A= B/t 2B =WaiA =NJI

14. IFA = N and B = WThen find the valueof B — 4

B — A/ =diB=wWaA=NJ

15. If X = {a,b,c} and Y = {d, e} then find the number of
elementsinY X X

r)h'ﬁ’ﬁd/ugziéu;fd/‘l},?/ﬂ;Y ={d,e} » X ={abc} /

YxX_g/S

16. If L = {a,b,C}and M = {d, e, f, g} then find two (’L’”EJ'HJ% L L5t 9 M={defig} »L={ a,b,c}/!
binary relations in each: L X L

LXLy/

17. Findaand b, if (a—4,b-2)=(2,2)

(a_4b-2=20 &b a

18. Find aand b, if (2a+5,3)=(7,b-4)

(28453 =(7.0_4) & b ~'a

19. Find aand b, if (3—-2a,b-1)=(a—7,2b+5)

(3—2a.b—1)=(a—7.2b+5)/’§-“(r"”b»'a

20. Find the sets X and Y, if
XxY ={(a,a),(b,a),(c,a),(d,a)}

XxY ={(a,a),(b,a),(c,a),(d,a)} Ay i x

21. If X={a,b,c}and Y ={d,e}, then find the number

of elements in Y x X .

:g{rk’nﬁ&yﬁéuif@/?

Y ={d,e} ”'X:{a,b,c}/ﬁ

22. What is meant by union of two sets. ?+J'/k(cuf£gJ>;§J
23. Define cartesian product. -uj/bé/?d;/"’flﬂf’“/{
24. Define ordered pair. Sl e e Sar
25. Define binary relation and give one example. e g S A8 e
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26. Define domain set and range set. IS e G s
27. Define Bi-jective Function. S tnl/ FEL2 0
28. Define function. ‘-J,/'i—y/?u(u:a
29. Write De Morgan's laws. LIS NG

30. Show A N B by Van diagram if A € B.

#ACB Ay e s AN B

31. Show the van diagram AN (AU B)

‘g e e AN (AUB)

32. Define Geometric mean. IS PS5 48
33. Define Harmonic mean. VYRS
34. Define Arithmetic mean. g i

35. Find arithmetic mean by direct method for the set
of data 12, 14, 17, 20, 24, 29, 35, 45.

S s o 5 P8P b

4535,29,24,20,17,14,12

36. The salaries of five teachers in rupees are., Find
range and standard deviation.
37.11500, 12400, 15000, 14500, 14800

S A e g b F ok wég
14800,14500,15000,12400,11500

38. Define mode. sy N
39. Define median. STy ST
40. Define class limits and class boundaries. 'J"/_é)/’fd/,,y&’ud’?,,u,,y&’u

41. Compute arithmetic mean using indirect method:
12,14,17,20,24,29,35,45

f}’”k/ﬂQPK}IFJ);/#L@)(_,@’///‘?)%U@
12,14,17,20,24,29,35,45: 2%

42. Define mode and range. S P ke

43. Define variance and write its formula. ~MU,/5/,,J/_'?/7J%/;

44. Find the standard deviation “s” of each set of S A1 e
numbers; 9¢3¢8¢8:9:8,9,19 i N

9¢3¢88:9:8,9,19

45. Write three characteristics of arithmetic mean? S f hor® F Shosl

Q.NO.4 (SHORT QUESTIONS)

1. Express the following sexagesimal measures of angles
in decimal form. 60°30'30"

N AN S -V P
60°30'30"

2. Express the following into D°M'S"’ from . 125.45°

125.45° _ X tS" sD%'M {5 0su

3. Express the following angles into radians. 135°

135° ety id Ugst

4. Express the following angles into radians. —150°

—150° -t h i Ugsts

5. Convert each of following to degrees. _Tm

IS IN NV

6. Find the distance travelled by a cyclist moving on a
circle of radius 15m, if he makes 3.5 revolutions.

LJ!{,[?._LLL"@/?&E) /<15 J!;/{J?;/'éég/’u.{l/lygﬁl/ug
WL

7. Find@when:1=45m,r =2.5m

1=45m,r =25 m:,l?.éffp‘*’@

8. Findr,when:l=4cm,0 = % radius

l=4cm, 6 = %:ﬂéé(}’”r

9. In acircle of radius 10m. find the distance travelled by
a point moving on this circle if the point makes 3.5
revolution

OSSR Py ke SE Lo SG 535S L 15 155
(1 =£3.5)<

10. what is the circular measure of the angle between the
hands of the watch at 3 o clock?

‘.’4;_l:‘n@/,:5!)uijngf’Juy/)Lungd%é3

11. What is the length of the arc APB?

e &S ppB UF

@nn
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12,

Prove that. (1 —sin8)(1 + sin @) = cos? 4

(1-sin@)(1 +sin) = cos? .S /=it

13.

Verify the identity: (tan©+cot0)tan0 =sec’0

(tan 0+ cot©) tan 0 =sec? 0 et el

14. Verify that: cot@sec6 =cosecd cotBsecH = cosech =it
15. Verify that: tan®0+tan®0 = tan® 0sec® 0 tan 0+ tan? 0 = tan0sec @ =il
. . .. sinB+cosO W
16. Verify the identity: =————— =1+tan0 : S P Vs
cosO Sind+cosH =1+tan®
— '
17. Verify the identity: sin” 9 +C0s0 =secO sin2o S P Vs
cos6 +C0s0 =secO
18. A tree casts a 40 meter shadow when the angle of oo 894‘,! J@smc‘- 255 572 K e 4 bz
elevation of the sun is 25°. Find the height of the ) =
tree. -
19. Find thegasn;gle ofhelgvation of the sun if a 6 feet man _9&3_S:L/gd;'é_b%_{,ﬁéér,p”wd,u%m
casts a 3.0 feet shadow.
20. Define sector. _E JGmts ] K
21. Define angle of elevation. S S s
22. Define angle of depression. ~Q/-—EJ/7JJ!'/'1}U

23.

Find r when |= 56 cm and 8 = 45°

véfﬁ“‘@grgﬁn 0=45"11=56cm~ 2

24,

Find tan & when cos 8 = % and terminal side of the
angle 6 is in fourth quadrant.

P an®in i BsE S F1K0.c0s 6 = %/ﬁ

25.

Find the area of the sector with central angle of g

radian in a circle of radius 10cm.

<L¢u::§;/ T d!!)/)!(’lo J!J/KJ!,{??()L"J/KL//UCW
5

26.

If tan6 = g , then find the values of other

trigonometric ratios atf.

e g S U B F B o5 A
tang=—
2

27.

If length of the chord AB = 8 cm. its distance from the
centre is 3 cm then find the diameter of such circle.

L B In 3 b S 6t 80U AB A

28. Define center and radius of circle. _Q/._‘y}&;uwuf/égju
29. Define circumference of a circle. S e L
30. Define a diameter of a circle. SIS EE L
31. Define collinear points. ﬂq/__yﬂfuéb‘(»
32. what is meant by Non-collinear points. ?‘@;!/Lfcwb,ﬁ/f
33. Define secant of a circle. ?‘g;!/gﬁ;bd’&

34.

In a AABC, calculate mBC when mAB =
5 cm,mAC = 4 cm, mzA = 60°

mAB =5 cm,mAC = & /#mBC J* AABC
4 cm, mzA = 60°

35. Define projection. AR 4
36. Define cyclic quadrilateral. BESS NN
37. Define and draw the escribed circle. -’gl’mﬁuiﬁl{zj f&ft;q’lg
38. Define Polygon. ﬁqj__y/?chw/gf
39. Define and draw the sector of a circle. NON Y A
40. Define circumcircle. Cesl P s i Pl
41. Define Isosceles triangle. M/_,:,/vgwug@,d,p

LONG QUESTION
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Q.N

0.5

Solve by completing square: £x2 + mx +n=0,£ # 0

G +mx+n=0,0+0 :ESE S i

8 _ 3x245

Solve by completing square: 4 —

2 “
8 -3 Lpe S i

3x+1  3x+1 3x+1 — 3x+1
Solve the equation using quadratic formula: x_+i —42_—)( = % 13 e S L s Gy
X— X
Solve the equation using quadratic formula: Lb +L =2:Z S = Sy G
X—b x-a

Solve the equation using quadratic formula: V3x2 +x =

\/§x2 +x = 4\/§ -éfcd%'&ﬂfﬁ&n»/&bb‘

43
x—3

. . X _
ix) solve the equation. =t 4 (T) =4

xsz + 4 (’%3) =42 f Senl

xii) solve the equation. 4.22%*1 —92* + 1 =0

42741 92X + 1 =0 2 Senlii

xiv) solve the equation. Vx2 + x + 1 —Vx2 +x—-1=1

Ve +x+1—Vx2+x—1 =12/ fenl(xiv

Solve the equation: /4a+x —+/a—x =+/a

JAarx —Ja—x =a :ESSen

Solve the equation: 2x* —11x*+5=0

2x 112 +5=0 & F S ahln

Find the value of k, if the roots of the following equations
are equal. 2k — 1)x?2 +3kx+3 =10

S1Wusidss L 2k — 1)x2 + 3kx + 3 = 0ol f3 o0 ]]
e

Show that the equation x? + (mx +c)? = a? has equal roots,

if c2=a’@+m?)

/ﬁiuﬁ/.'/.ujuci x? +(mx+c)> =a’ ;A;L,»,J/"é;f,t‘

c®=a’(l+m?)

For all values of k, prove that the roots of the equation

NG _2(k+%jx+4zo’(k ~0)are real.

Sl x? —2(k+%jx+4:0,(k £ 0) =l LUzt (K

-,

—ds

Provethat x3 + y3 + 23 —3xyz=(x +y + 2)(x +
wy + w?z)(x + w?y + wz)

x3+y3+z3_3xyzz (x+y+Z)(x+(l)y+J/é¢/.L&
w?z)(x + w?*y + wz)

Prove that: (1+ w)(1+ »*)A+ 0*)(1+ o°).....2nfactors =1

1+ 0)1+0?) 1+ 0" )L+ o®)....2nfactors =1 1 &l

Prove that: x® —y® = (x — y)(x — oy)(X — w?y)

X2 —y? = (X —y)(X —oy)(X—o?y) St

Find m, if The roots of the equation x? + 7x + 3m — 5 =
0 satisfy the relation 3a — 28 = 4

ég;ujui x>+ 7x+3m—-5= O;A;L»fiq/()’”;afd/
et 3a—2p=4F

Solve the simultaneous equations. x% + 2y? = 3;x2 +
4xy —5y% =0

x? +2y% = 3;x% + 4xy — 5y% =S S =il At 5 ou
0

the product of two positive consecutive number is 182.
find the numbers

_Q“/r)’”;lﬁl-+l82?«/“&()!,«&!@?&'}/»

. . . 15
the difference of a number and its reciprocal is 17. find the
number.

4}1/(}‘0/&«9 175 J/.KJ:@LJ!A!U&..{I

Q.N

0.6

3 3
Find x in proportion: p? 4+ pg+g?: x ;;%;(p_q)z

3 3 .
p*+pg+q°:x:: Iop;q—i(p—q)2 i eddx et

If RcTand R =5when T =8, find the equation

connecting R and T. Also find R when T=64and T when
R=20.

Rz ennt T #RIT=8R=5.4xRxT/
xR=20 ﬁéﬂh" T /}IT=64..),§(}”‘

2 2
Find a third proportional to: P —9 , P—q
p’+q’ p’—pq+q’

p’—q’ p—q

3., 3’12 _ 2 Z»é()’".,/t:iﬂ
pP+9 p —pg+q

Find the values of the letter involved in the given continued

proportion: 7,m-3,28

Erbredlm et T, m-3,28
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Using theorem of componendo-dividendo find the value of

S MO MEOP s e b S5

m+5n m+5p 10np m=5n" m-5 P
+ T m=—-— 10np
m-5n m-5p n+p -xm=
n+p
. . . X—6a X+6b
Using theorem of componendo-dividendo find the value of |  figfps =i - L SJere S e
X—6a Xx+6b . 12ab x+6a x-6 12ab
x+6a x-6b' ~ a-b _
“a-b
3 3q .
Using theorem of componendo-dividendo find the value of /5r"’”v*’u(z+3p 2J_r 92 vz Sererd Js ke
s—3p+s+3q if s 6pq P 3 5
s+3p s-3q p—q -ns:ﬁ
Using theorem of componendo-dividendo solve: —_—
Jx2+8p2—\/x2—p2 _1 -ég}a/\/%;% —;/L/JWIJM VJ//J»"
[x7+apTe[x?=p? 3 ’ ’
a_EZE ac+cetea & ____9
If (a,b,c,de,f # 0); =7 =7 then show that drdrirh =S =ti(a, b,c,de,f# 0), = /
ac+cetea [2]2/3 ace 2/3
bd+df+fb _ lbdf W
a_ ¢ ac ac ea o a_c¢ e
If(a,b,c,d,e,fth)b— thenshowthat +df+ bd+df+fb =S =ki(a,b,c,d e f# 0)> —d— i
w_at & & 2, e e
o~ b2 2 AN
Resolve into partial fractions: 3X—+7 -éﬁ s S
P T (X*+1)(x+3) 3x+7 U SO0
3 2
Resolve into partial fractions: w w SJ’L{ s S
3x°—2x-1 3x*—2x-1
2 .
v, 8 S ke s
. . . 9 9 >
Resolve into partial fractions: —— > L S Y 4y Y-S
P (X—1)(x +2)° x-D(x+2)° S
Resolve into partial fractions: X' +1 X4l (EIE sz
x3(x—1) x2(x—1)

0.7

Q.N
FU ={1,2,3,4,5,6,7,89,10}A = {1,3,5,7,9}B =
{2,3,5,7}Then verify the De-Morgan's Lawsi.e (ANB)' =
A"UB’

SIS ANGT22357)=B {13,579)= AU ={123456,789,101./1
(ANB) = A'UB' . /34§

IfU = {1,2,34, ...
verify the questions - (A U B)

,10}A = 1,3,5,7,9}B = {1,4,7,10} Then
li 2 AI U BI

C={1,5,8,} #B={15810A={1,4,7,10}U ={1234,..10}}.]1
AUB) =AU B’iq/q@é‘/‘)uyas,»m?mo

fL={x|x€eENAx<5}L,M=|fL{yly€pAy <10}
Then make the following relations from L to M R, =

{(xy)ly=x}

L={x|x€NAx<5},M=|fL{y | y € pAy <Ji(xiv
R, =-J.‘.¢i.@"u;|Uﬁ}?JJ:g/)i-uflkJ:g’5z4McL~iZ:_J:J;/,Cf? 10}

then verify B—A=BNA'.

{xy) ly=x}
If L={a,b,c}and M ={d,e,f,g}, then find two binary b 3En L LxL ## 6 = {d.e.f,g} ”'L={ab,c} /i
relations inLx L. -
If A={1,3579}, B={14,7,10}and U={12,34,...,10}, | i, _ (1.2,3,4,..,10) *' B= {14, 7152 {1357, g}f
then verify (B—A) =B UA. SB_AY =B UA
If A={1,357,9}, B={14,7,10} and U={1,2,34,..,10}, 7= (1,2,3,4,..,10} /,;82{114’7,10} ‘A={1357,9) i

ekl TB_A=BAA

Find the standard deviation “S” of each set of numbers:
(1)12,6,7,3,15,10,18,5

(i)9,3,8,8,9,8,9,18

gt U1 A e
(i)12,6,7,3,15,10,18,5
(ii)9.3.8.8.9.8.9.18

Calculate variance for the data: 10,8,9,7,5,12,8,6,8,2 i e P i
10,8,9,7,5,12,8,6,8,2
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On a vacation trip a family bought 21.3 liters of petrol at
39.90 rupees per liter, 18.7 liters at 42.90 rupees per liter,
and 23.5 liters at 40.90 rupees per liter. Find the mean price

&47” 30.90 127013 Lo LIl i b O P Utus
VA3 40,90 U0 54235 412041 42,90 )1 2P 18.7
<“é()b”.>£ﬂ&£/}|&d;ﬁ,‘l&]’

paid per liter.
Q.N

0.8

Prove that. (cot8 + cosec8)(tan § —sin ) = secH —
cos @

(cotd + cosecH)(tan @ — sin ) = secd — cos .S =t

sinf+cos® _ cos?6

tanZ 6—-1

iv) Prove that. e —s

sinf+cos® _ cos?6

tanZ2 -1

S S by

sin8—cos @

vii) A 20 feet long ladder is leaning against a wall. The
button of the ladder is 5 feet from the base of the

Wall. Find the acute angle (angle of elevation) the ladder
makes with the ground.

Al bt s B 5 (A LS s 2320 L
~93ujv£ uﬁ‘}i/ wREE (#3522 K e 35

cos? 0

. . . sinB+cosO . s f ¢
Verify the identity: w01 snb_coso sin0+cosd  cos?0 e el
. . . 1+cos®6 sin® *
Verify the identity: =2cosecO ; e el
fy Y sind  1+cos0 1+cose+ Sige =2cosecH
Verify the identity: L 1 ocosecd 1 1 AU Vs
1-cos® 1+cos6O + =2co0sec’0
. . .. 1+sin® 1-sin0O .
Verify the identity: - = 4tan0secO - - e el
fy Y 1-sin® 1+sin® 1+SIne—1_sme=4tanesece -
Verify the identity: sin®6 =sin®—sin6cos?0 SiN0=sin0—sin0cos?0 ‘el
. . . 1+cos0 sind -
Verify the identity: = - A WV
fy y \’1—cose 1—cos0 A/1+cose _ sing ==
Verify the identity: /Se°9+1zsece+l et L
secO-1 tano -

/sece+1 _seco+1

Escribe a circle opposite to vertex A to a triangle ABC with
sides |AB|=6cm | |BC|=4cm | [CA|=3cm . Find its radius
also.

BE <AB UL U1 St b b6 ABC L A UL
G SR U 3 4ol 6w PV CA

Circumscribe a circle about an equilateral triangle ABC
with each side of length 4cm.

-n‘(4éwJézﬂ£Jlfg%é—Lkvfl)/l{{ABC ELEE U2 Saln

Inscribe a circle in an equilateral triangle ABC with each
side of length 5cm.

-1’5 JHJ{‘}}/;LJIJ/_’AZ’O_%/%//KABC SLEL WY Sals

Two equal circles are at 8cm apart. Draw two direct
common tangents of this pair of circles.

_?JVJ]}'&ULUUIUULQ?/?JJULf8 38l

Draw two equal circles of each radius 2.4cm. If the
distance between their centres is 6¢cm, then draw their
transverse tangents.

;ﬁf 6 JMB&L{/}K}G/Lwﬁ-gz_//l;u’}l{*»Lquuf 2.4
_g T L

Q.NO.9

THEOREM (THE STUDENT MUST SOLVE THIS
PROBLEM)

(e d e/ oS Irrd L) e

If two chords of a circle are congruent then they will be
equidistant from the centre.

_Zuﬂyw’d)L"L}(/D};uﬁJ&L;‘;}}} Lz_/’bﬁfg[/cz:t"

Prove that perpendicular from the centre of a circle on a
chord bisects it.

The measure of a central angle of a minor arc of a circle, is
double that of the angle subtended by the

_‘QL"/J;‘;?JJiU}f/’}'ufl/c}’//i;//l)f{_{at‘

esliuw Lo g3 5 Gy N5 i pide e 2 U9 S

_‘at‘ﬁbfuc

Prove that any two angles in the same segment of a circle

are equal.

<u32_n/,u,ﬁg‘unc;uui‘a/’u,,b?@.,{ma“_,uf“éat‘

http://www.pakquess.com

Sir Abbas Gagra Contact # 0303 9300943

Page 18



http://www.pakguess.com/
mailto:bismillahacademy223@gmail.com?subject=Text%20on%20WhatsApp%20(0300-7980055)%20To%20get%20More%20Tests
mailto:bismillahacademy223@gmail.com?subject=Text%20on%20WhatsApp%20(0300-7980055)%20To%20get%20More%20Tests

Class 10t Guess

http:/www.pakguess.com Annual 2025

http://www.pakquess.com Sir Abbas Gagra Contact # 0303 9300943 Page 19



http://www.pakguess.com/

